Ficha 23
Prueba de la division

78 : 3 = cociente: 26.

69 : 2 = cociente: 34; resto: 1.

86 : 4 = cociente: 21; resto: 2.

93 : 6 = cociente: 15; resto: 3.

77 : 7 = cociente: 11.

274 : 8 = cociente:
644 : 5 = cociente:
317 : 3 = cociente:
369 : 9 = cociente:
2,

149 x 4 = 596

121 x7 +2 =849

214 x3 +2 =644

1.
618 : 3 = cociente:

807 : 2 = cociente:
537 : 5 = cociente:

364 : 6 = cociente:

34; resto: 2.
128; resto: 4.
105; resto: 2.

41.

Ficha 24
Divisiones con ceros en el cociente
206.
403; resto: 1.
107; resto: 2.
60; resto: 4.

1.836 : 9 = cociente: 204.

4.024 : 8 = cociente: 503.



